$\frac{2a}{T^2v^3} = \frac{R}{(v-l)^2} \rightarrow RT^2v^3 = 2a(v-l)^2$  $\frac{\partial P}{\partial V} = 0 \Rightarrow \frac{-RT}{(v-k)^2} - \frac{-a_2Tv}{T^2v^4} = 0 \Rightarrow T\left(\frac{2a}{T^2v^3} - \frac{R}{(v-k)^2}\right) = 0$   $\frac{\partial^2 P}{\partial V^2} = 0 \Rightarrow T\left(\frac{-2a_3T^2v^2}{T^4v^6} - \frac{R}{(v-k)^4}\right) = 0$  $2RT^{2}v^{4}=6a(r-b)^{3}$  $2V\left(2a\left(v-l_{1}\right)^{2}\right)=6a\left(v-l_{1}\right)^{3}$  $4a v(v-l)^2 = 6a(v-l)^3$  $2 V (V-l)^2 = 3 (V-l)^3$ 2v = 3(v-b) = 3v - 3b-v=-3lv = 3k  $v_c = 3k$  $R + ^{2}v^{3} = 2a(v-l)^{2}$  $RT^{2}27\ell^{3}=2a(2\ell)^{2}$  $RT^223b^3 = Rab^2$  $=\sqrt{\frac{2}{27}}-\sqrt{\frac{1}{24}}\sqrt{\frac{aR}{R^3}}$  $=\frac{1}{12 l \sqrt{\frac{2 \cdot 199}{27}}} - \sqrt{\frac{1 \cdot 199}{29}} \sqrt{\frac{a k}{l}}$  $\frac{1}{126} \sqrt{\frac{32}{3}} - \sqrt{6} \sqrt{\frac{3k}{3}}$ 

 $= \frac{1}{12h} \left( 4\sqrt{2} - 3\sqrt{2} \right) \sqrt{\frac{ak}{3k}}$   $= \frac{1}{12h} \sqrt{\frac{2ak}{3k}}$ 

 $=\frac{1}{12l}\sqrt{32}-\sqrt{ll}\sqrt{\frac{ak}{3l}}$